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(e) 

 

Diffraction Order  Wavelength  m  xm 

0  All Wavelengths 0 0 

±1  400 nm

700 nm

±6.9

±12.1

±3.6  cm 

±6.5  cm 

±2  400 nm

700 nm

±13.9

±24.7

±7.4  cm 

±13.8  cm 

±3  400 nm

700 nm

±21.1

±39.1

±11.6  cm 

±24.4  cm 

±4  400 nm

700 nm

±28.7

±57.2

±16.4  cm 

±46.6  cm 

±5  400 nm

700 nm

±36.9

/

±22.5  cm 

/ 

 

Note: There is no 5th order diffraction for =700nm, but there exists a maximum wavelength 

of light (666 nm, xm  ) with the 5th order of diffraction. 

 

 
 

Note: m = ‐1, …., ‐5 diffraction pattern is not shown for clarity. The size of zero order 

diffraction depends on the dimension of the incident light. 

 

 

 

(f) m = 1 
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3(a)   
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   
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



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 2222
iffi

iffi
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    [ 1 Mark ] 

   ffii VvVv    [ 1 Mark ] 

(b)   

Step (i) Balls drop from rest 

 

Step (ii) Right after hitting the ground, both balls move 

downward with speed v = (2gh)1/2 

 

 

 

Step (iii) Right after bounce off the ground, the 

relative speed = 2v. 

 

Step (iv) 

 

 

 

v = (2gh)1/2 

Relative speed = 2v 
Relative speed = 2v

3v

v

[ 1 Mark ] 

[ 1 Mark ] 



Step (iv)   

After bounce each other, from Result (a), the relative speed is 2v.    [ 1 Mark ] 

The speed of the basketball is essentially equal to v (M >> m),    [ 1 Mark ] 

  

vv
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speed relativebasketball of speed

collisionafter 
ball  tennisof speed
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

 

Conservation of energy to find the height (H’) that the tennis ball bounces: 
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The height (from the ground) that the tennis ball bounces: 

H = 9 h + d   [ 1 Mark ] 

(c) Inductively determine the speed of each ball after bouncing off the ball below it. 

From Eqn (Q3.1),   

Ball 2 and Ball 1:    12 2vvv  , where  ghv 2   [ 1 Mark ] 

Ball n and Ball (n – 1):    12  nn vvv   [ 2 Marks ] 

vvv nn  12    

 vv n
n  12      [ 3 Marks ] 

 

(d) Conservation of energy to find the height (Hn’) that the nth ball bounces: 
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Eqn (Q3.1)      [ 2 Marks ] 

[ 1 Mark ] 

[ 1 Mark ] 

[ 1 Mark ] 

For those students who cannot write the general form   vv n
n  12  , 

partial marks are given for v2, v3, and v4: 

v2 = 2v1 + v = 3v  (note: v1 = v)  [ 0.5 Mark for v1 and v2 ] 

v3 = 2(2v1 + v) + v = 4v1 + 3v = 7v  [ 0.5 Mark ] 

v4 = 2(4v1 + 3v) + v = 8v1 + 7v = 15v  [ 0.5 Mark ] 

[ 1 Mark ] 

[ 1 Mark ] 

[ 1 Mark ] 




